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[% 3 #=]
<FHOMFX R> P57
[Code 1]

boxplot(data=InsectSprays, count ~ spray)

<{§OJX Python> P58
[Code 2]

Ipip install pydataset
from pydataset import data

import seaborn as sns

insect = data("InsectSprays")

sns.boxplot(x="spray", y="count", data=insect)

<MIGaHT R> Pé6l
[Code 1]

install.packages("ca")

library(ca)

dat <- apply(HairEyeColor, c(1,2), sum)

dat.ca <- ca(dat)

plot(dat.ca)

legend("bottomright",
legend=c("Hair","Eye"),
pch=c(16,17),
col=c("blue","red"))




<A Python> P63
[Code 2]

Ipip install pydataset

from pydataset import data
import pandas as pd

import matplotlib.pyplot as plt
Ipip install mca

import mca

hec = data("HairEyeColor")

dat = pd.crosstab(index=hec|"Hair"],
columns=hec["Eye"],
values=hec["Freq"],
aggfunc="sum")

dat_ca = mca.MCA(dat, benzecri=False)

rows = dat_ca.fs_ r(N=2)

cols = dat_ca.fs_c(N=2)

fig, ax=plt.subplots(figsize=(6,6))

ax.scatter(rows|[:,0], rows[:,1], c='blue', marker='0', s=50)
labels = dat.index.values

for label,x,y in zip(labels,rows[:,0],rows[:,1]):

ax.annotate(label, c="blue", xy = (x, y), fontsize=15)

ax.scatter(cols[:,0], cols[:,1], c="red’, marker=""", s=50)
labels = dat.columns.values
for label,x,y in zip(labels,cols[:,0],cols[:,1]):

ax.annotate(label, c="red", xy = (x, y), fontsize=15)

ax.legend(["Hair","Eye"], loc="lower right")
ax.axhline (0, color="black", linestyle="dotted")
ax.axvline (0, color="black", linestyle="dotted")

plt.show()




[%E 4 ]
<FEW7oH R> P88
[Code1]

# 1 H
library(tidyverse)

#7 7 A NDFE AR
data <- read_csv("test.csv",

locale=locale(encoding = "utf-8"))
#7 — 2 DOWMEERT
glimpse(data)

#ER T
res<-prcomp(data[,2:6])

[Code 2]

#HER DR
res
#EEE R Y

summary(res)

#oNA T a oy b
biplot(res)




(% 5 &]
<RXZ7v A4y Python> P106, P107
[Code 1]

Ipip install bs4 # Beautiful Soup &4 v & + —v

from urllib import request #urllib.request % 4 ¥ K — b

from bs4 import BeautifulSoup # BeautifulSoup % 4 v &~ — }

url = https://www.ds.shiga -u.ac.jp/about/ds/aiming/ #X}4 ® URL
response = request.urlopen (url)

soup = BeautifulSoup(response)

response.close()

print(soup)

[Code 2]

title = soup.find("h2",class_ = "c-heading--1v2") # title D
print("title :" title.text) # .text T7 ¥ A DA E T 3,
sub_title = soup.find_all("h3",class_ = "c-heading--1v3") # sub_title D
content = soup.find_all("p",class_ = "c-txt") # content D
for iin range(len(sub_title)):
print("sub_title : ", sub_title[i].text)

print("content " content[i].text)




<#EAR Python> P115, P116, P117
[Code 1]

import pandas as pd

# AL CHARGE 2 TR T 3 80E

Ipip install japanize-matplotlib

import matplotlib.pyplot as plt

import japanize_matplotlib

import seaborn as sns
sns.set(font="IPAexGothic")

#REREHMT 272007477

from sklearn.tree import DecisionTreeClassifier
# RERZAHLT 27477

from sklearn.tree import plot_tree

df = pd.read_csv("/content/drive/MyDrive/sample.csv")

[Code 2]

X = df.drop(columns = [ A ])
y = df[ A ]

# RERDEX ZI55E

depth =1

# RIEARET NV OIER

tree = DecisionTreeClassifier(max_depth = depth, random_state=0) .fit(X, y)

# REARDAHAL
fig = plt.figure(figsize=(8,8))
plot_tree(tree, feature_names=X.columns, class_names=True, filled=True)

plt.show()




(%% 6 %]
<&E[JFHH  Python> P132, P133, P134

[Code1]

import pandas as pd
from sklearn import datasets
#7— %y bt DitHIAR
diabetes = datasets.load_diabetes()

[Code 2]
#7— X2y MERDOFRIR
print(diabetes[ DESCR])

[Code 3]

#H#T — X v P DFEIR

BT — R BT —X 7L —LDFICT 3
df = pd.DataFrame(diabetes.data)

#3145 0E

df.columns = diabetes.feature_names

HHINEBCTH DT — 2% T —X 7 L — LB
df[Target] = pd.DataFrame(diabetes.target)

BT — R 7L —LDKEIBER
print(df.shape)

#5— R 7L — LG 5 TR
df.head()




[Code 4]

#HIHZE L DR R
X = df[[age, bmi, bp, s1, s2, s3, s4, s5, s6]]

#H R DIE K
y = df[Target]

[Code 5]

import statsmodels.api as sm

#FE TV EER
model = sm.OLS(y, sm.add_constant(X))

#E 7 VOIERK
results = model.fit()

#i R DEIN

print(results.summary())




[% 7 %]
<uYR7 4 v 7NHEsH R> P158
[Code 1]

# T — 2 DHHIAR

data <- read.csv("demo.csv")

# 7 — XD 5 N m RN

head(data,5)

# v AT 4y 7GR FEAT

resl <- glm(pass~months, data, family="binomial")
# AR DRI

summary(resl)




(55 8 %]
<[X[E#EE Python> P198
[Codel]

import pandas as pd
import numpy as np

from scipy import stats

# T —RDHHRIAR
data = pd.read_csv("./hyol_data.csv")
# —H|H» ID,—%|H 2 Time

arrive_time = data.iloc[:,1]

# EEARE

mean = np.mean(arrive_time)
# AMETEL

var = stats.tvar(arrive_time)

# TXOKREZ

n=15

print(mean,var,n)

print(stats.norm.interval(confidence=0.95, loc =mean, scale=np.sqrt(var/n)))




[56 9 %]
<MEHWERBE R>  P229, P230
[Codel]

# T—RDHEMHAH

dat <- read.csv("tea_test.csv")

#AFEE BEDFHMERZEY HI
dat_A <- dat$5Ffi s [datSEHEIZE =="A"]
dat_B <- dat$EFifli s [datSEFffi ZE =="B"]

# BARYAX
n_A<- length(dat_A)
n_B <-length(dat_B)

# 1BEARTY
mean_A <- mean(dat_A)

mean_B <- mean(dat_B)

# TRAEL
var_A <-var(dat_A)

var_B <-var(dat_B)

#2 BOTHEDEDRE

r1<-gnorm(p =0.025, mean =0, sd = sqrt(var_A/n_A +var_B/n_B))
r2 <-gnorm(p = 0.975, mean =0, sd = sqrt(var_A/n_A +var_B/n_B))
print(c(rl, r2))

#PEDEHE

g <- pnorm(q = abs(mean_A-mean_B), mean =0, sd =sqrt(var_A/n_A + var_B/n_B))
p<-2*(1-q)

print(p)
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